B.Com. (Part - I11) Sem-1V
246 - Management Accounting

P. Pages: 7 GUG/S/19/905
Time : Three Hours L Max. Marks : 80

Notes: 1.  All questions are compulsory.
2. All questions carry equal marks.

1. a) Explain tools and techniques of Management Accounting ? 8
b)  Prepare cash budget of a Rashi Company for April, May and June 2013. 8
Months 2013 Sales (Rs.) | Purchase (Rs.) | Wages (Rs.) | Expenses (Rs.)
January (Actual) 80000 45000 20000 5000
February (Actual) 80000 40000 18000 6000
March (Actual) 75000 42000 22000 6000
April (Budgeted) 90000 50000 24000 7000
May (Budgeted) 85000 45000 20000 6000
June (Budgeted) 80000 35000 18000 5000

You are further informed that -

i)  10% of the purchases and 20% of the sales are for cash.

i) the average collection period of the company is ¥2 month and the credit purchases are
paid off regularly after one month.

iii) Wages are paid half monthly and the rent of Rs.500 included in expenses is paid
monthly.

iv) Cash and Bank Balance as on April 1 was Rs.15000 & the company wants to keep it
on the end of every month below this figure the excess cash being put in fixed
deposits.

OR

c)  For production of 10000 Electrical Automatic Iron the following are the budgeted expenses. 16

Per Unit (Rs.)

Direct Material 60
Direct Labour 30
Variable overhead 25
Fixed Overhead (Rs.150000) 15
Variable Expenses (Direct) 5
Selling Expenses (10% Fixed) 15
Administration Expenses (Rs.50000 5
rigid for all level of production)

Distribution Expenses (20% fixed) 5
Total Cost of sales per unit 160

Prepare a flexible budget for production of 6000, 7000 and 8000 Iron showing distinctly
marginal cost and total cost.
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2. a) Coststructure of a product is as follows : 8

Material Rs. 80 per unit
Labour Rs. 60 per unit
Variable Cost Rs. 35 per unit
Selling Price Rs. 250 per unit

Sales Rs. 2,50,000
Fixed Cost Rs. 50,000
Calculate :

i)  Profit earned and
i)  Profit earned if labour cost is increased by 10% and material cost is decreased by 5%
simultaneously.

b) Given 8
Fixed Cost per Month Rs. 31,500
Variable cost per unit Rs. 3
Selling Price per unit Rs. 7.50
Total sales 8000 units per month
Calculate :
i)  Profit volume Ratio.
ii) Break even sales
iii) Profit or loss on sales of 6000 units and 9000 units.

OR

c) Giventhat 16
Selling Price per unit Rs. 40
Variable Cost per unit Rs. 24
Fixed Expenses Rs. 60000
Calculate :
i)  Profit Volume Ratio
i) Break Even Point
iii) Sales to earn a 20% Profit on Sales.
iv) Additional sales to earn a additional profit of Rs. 8000.

3. a) Calculate Operating Profit Ratio & Net Profit Ratio. 8

Particular Rs.

Gross Profit 2,00,000
Office Expenses 1,01,000
Selling Expenses 12,000
Rent from Building Received 4,500
Interest paid 1,200
Loss on sale of Investment 1,000
Interest (Cr.) 1,500
Discount allowed 2,400
Bad Debt 3,400
Marriage Expenses 1,000
Total Sales 5,00,000
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b)  The following information is given about M/s Rahul Company Ltd. for the year ending 8
31 December 2014.

Stock Turnover Ratio 6 Times
Gross Profit Ratio 20% on sales
Sale Rs. 3,00,000
Closing Stock is Rs. 10000 more than the opening stock
Opening Creditors Rs. 20,000
Closing Creditors Rs. 30,000
Trade Debtors Rs. 60,000
Net Working Capital Rs. 50,000
Find out :
i)  Average Stock i) Purchase
iii) Creditor Turnover Ratio iv)  Average Payment Period

v)  Average Collection Period.
OR

c)  From the following statement of Rashi-Rudra Company Ltd. for the year ended on 31-12- 16
2014 Calculate the following Ratios :

i)  Current Ratio i) Liquid Ratio
iii) Operating Ratio iv)  Stock Turnover Ratio
v) Fixed Assets Turnover Ratio vi)  Debtor Turnover Ratio

vii) Creditor Turnover Ratio
Balance Sheet as on 31-12-2014

Liabilities Rs. Assets Rs.
1,00,000 equity shares Land & Building 4,50,000
of Rs.5 each 5,00,000
General Reserve 3,00,000 | Plant & Machinery 2,50,000
P/L Account 2,00,000 | Inventory 2,00,000
Sundry Creditors 2,00,000 | Sundry Debtors 2,00,000

Cash at Bank 1,00,000
12,00,000 12,00,000

Trading and Profit and Loss Account for the year ended on 31-12-2014

Particular Rs. Particular Rs.

To Opening Stock 1,00,000 | By Sales 16,00,000
To Purchase (Credit) 8,00,000 | (Credit less Return)
To Gross Profit 9,00,000 | Bly Closing Stock 2,00,000

18,00,000 18,00,000
To Office & 2,00,000 | By Gross Profit 9,00,000
Administrative Expenses
To Selling & Distribution 1,00,000 | By Profit on Sale of Fixed 25,000
Expenses Assets
To Other Expenses 25,000
To Net Profit 6,00,000

9,25,000 9,25,000
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4. a) Given

Particular 1! Jan. 2014 | 31°% Dec. 2014
(Rs.) (Rs.)

Plant & Machinery 80,000 2,00,000

Accumulated Depreciation 45,000 35,000

Following information are available :

i)  Machinery purchased Rs.40,000 by issue of debenture.

ii) Sales of Plant & Machinery on 1% January costing Rs.42,000 (with accumulated
depreciation of Rs.25,000) sold for Rs.10,000.

Trace out current year provision for depreciation and also prepare sources and application

of fund.
b)  Prepare statement of changes in working capital of Rahul Company Ltd.

31% March 2013
Cash Rs. 15,000
Prepaid Expenses Rs. 3,000
Debtors Rs. 90,000
Building Rs. 1,00,000

31t March 2013
Creditors Rs. 24,000
Unpaid Expenses Rs. 2,000
Share Capital Rs. 1,00,000
Bad Debt Reserve Rs. 6,000

315t March 2014
Cash Rs. 12,000
Prepaid Expenses (Increase) Rs. 3,000
Debtors (Increase) Rs. 30,000

Unpaid Expenses (Decrease) Rs. 1,000
Creditor Paid (Decrease) Rs. 9,000
Bad Debt Reserve (Increase) Rs. 2,000

OR
c)  Balance Sheet of Rashi Rudra Company Ltd. are as -

Particular 2013 2014

(Rs.) (Rs.)
Fixed Assets 4,00,000 3,20,000
Investment 50,000 60,000
Stock 2,40,000 2,10,000
Debtors 2,10,000 4,55,000
Bank Account 1,49,000 1,97,000
10,49,000 12,42,000
Share Capital 4,50,000 4,50,000
General Reserve 3,00,000 3,10,000
Profit & Loss Account 56,000 68,000
Sundry Creditors 1,68,000 1,34,000
Mortgage Loan - 2,70,000
Tax Provision 75,000 10,000
10,49,000 12,42,000
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Additional Information :

i) Investment Costing Rs.8,000 was sold for Rs.8,500.

i) Tax Provisions during the year Rs.9,000.

iii) Fixed Assets Costing Rs.10,000 was sold for Rs.12,000.
iv) Dividend was paid during the year Rs.40,000.

Prepare a statement of changes in working capital and fund flow statement.

5. Write short answers from the following :
a) Explain the functions of Management Accounting. 4
b) Explain limitations of Break Even Point. 4
c) Explain objects of Ratio Analysis. 4
d) Explain limitation of Fund Flow Statement. 4
N
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